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SECTION-1

General English Comprehension

Find the words opposite in meaning in given items.

1. The teacher was 'happy’ with the student.

+(A) sad
B) favour
(®) like
(D) pleased
2 The soldier was 'Kind" :

(A) peaceful

B) helping
*(C) cruel
D) hate

Out of the given alternatives in below given items,
choose the correct one reflecting meaning.

3 Animals that can live on land and water :
' (A)  Aquatic |
(B) Aquarian
.C)  Ambhibious
(D) Hibernator
4, Custom of having many wives :
«(A) Polygamy
(B) Monogamy
() Bigamy
(D) Matrimony
5; A thing which easily catches fire
(A)  Fluorocent '
. (B) Inflammable
(©) Impatient
D) Qily
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6. An unmarried man :

« (A) Bachelor
(B)  Miser
(C) Master
D) Free'

T Animals that feed on grass :

(A) Carnivorous

o

# (B) Herbivorous
(€ Insectivorous
D) Graminivorous

Each of the following items is followed by alternative
meanings of which only one is correct. Choose the
correct.

8. We must 'give up' our bad habits :
(A) create
¢ (B) leave
(9] continue
D) keep away
9. Sardar Patel was ‘iron man' :
(A) liberal man
«(B)  aman of firm determination
(C) angry man
(D) not caring
10. The boy was 'knocked down' by a truck :
(A) washed away
(B) removed
(9] crushed down
pushed
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1. Toread between the lines :
(A) to suspect
(B) to read carefully

«(C) to understand the hidden meaning

of the writer
(D) - to do useless things
12 One should not make ‘irrelevant' remarks :
(A)  reasonable
(B) meaningful
- (€)
(D) useful

not being to the point

Fill in the blanks in the following items :
13, Work hard you should fail,

(A) otherwise

+(B) lest
(®) or
(D) else
14 We sailed____the river.
(A) - in
' (B) on
(®) at
+ (D) down
15. - Atlast he yielded__the temptation.
(A) for
(B) . ‘about
+(C) to
O)  with
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Direction :

31.

32.

33.
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SECTION-IIl / @US-lI|

LOGICAL AND ANALYTICAL REASONING
s wd Revmes R

e -

In each of the following questions,
various terms of a letter series are
given with one term missing as
shown by (?). Choose the missing
term out of the given alternatives
(Q. 31 to 34).

POJ; UEE, YGA 5P DNV

(A)  BJX
B) CXJ

© BX

D) = xB

KLZ.......2......., QPX, TRW, WTV
(A)  NMY

(B)  NNY

©  MMmY

0)  MNY

ZA, VE, Rl,.ooiiion B,

A Lo

(B) MN

© NM

0 oL

..................... ETCIM, MIETC, CTMIE
(A) . ICMTE

B  ETMC

(C) = ECTIM

'\0)  CIMTE

(6)
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(&)  BIX
® cx
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B (A):

(@)

(c)

(d)
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In each of these questions are
given two statements (A) and (B).
These statements may be either
independent causes or may be
effects of independent causes oh
of a common cause. Read both
the statements and give answer
(Q. 35)

The prices of fruits have dropped
substantially during the last few
days.

The prices of foodgrains have
increased substantially during the
last few days.

If statement (A) is the cause and
statement (B) is its effect.

If statement (B) is the cause and
statement (A) is its effect.

If bpth statements are effects of

independent causes.

If both statements are effects of
some common cause.

(7)

35.

(B):

(@)

(b)
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Direction :

36. 'Statements : 36.

In each question below are two
statements followed by two

.conclusions numbered | and II. You

have to take the two given
statements to be true even if they
seem to be at variance from
commonly known facts and then

~decide which of the given

conclusions logically follows from
the two given statements,
disregarding commonly known
facts. (Q. 36-37)

All Rats are Cat.
All Cats are Dog.

Conclusions

l.
i,
(A)
B
©
)

37. Statements : 37.

Some Dogs are Rat.
Some Dogs are Cat.

If only conclusion | follows
If only conclusion II follows
If both | and Il follows

If neither | nor Il follows

All Hens are Bird.
Some Goats are Hen.

Conclusions :

Some Goats are Bird.

All Hens are Goat.

If only conclusion | follows
If only conclusion Il follows
If both | and Il follows

If neither I'nor Il follows
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38.

39.
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The train for Patna leaves every two and a
half hours from New Delhi Railway Station.
An announcement was made at the station
that the train for Patna had left 40 minutes
ago and the next train will leave 18.00 hrs.
At what time was the announcement
made ?

(A)  16.10 hrs.

B)  17.15hrs.

€ 1530 hrs.

0)  15.15 hrs.

In a class of 60, where boys are twice that
of girls, Reena ranked seventeenth from the
top. If there are 9 boys ahead of Reena,
how many girls are after her in rank ?

A 12
B 13
o
© 2

(9).

38.

39.
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IR 9 & foi 99 gedl 31 7 R
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(A)  16.10 hrs.
(B) 17.15 hrs.
©) 15.30 hrs.

D) 15.15 hrs.
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40.

41.
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In each question below is given a
statement followed by two
assumptions numbered | and II.
You have to consider the
statement and the following
assumptions and decide which of
the assumptions is implicit in the
statement. (Q. 40-41)

Statement : It is desirable to put the child in

school at the age of 5 or so.

Assumptions :

l. At that age the child reaches
appropriate level of development
and is ready to learn.

Il The school do not admit children
after six years of age.

(A) If only assumption | is implicit.

(B) If only assumption Il is implicit.

€ If neither | nor Il is implicit.

D) If both | and Il are implicit.

Statement: A warning in a train

compartment - "To stop
train, pull chain. Penalty for
improper use Rs. 500."

Assumptions |. Some people misuse the

alarm chain.

Il.On certain occasions,
people may want to stop a
running train.

(A) If only assumption | is implicit.
(B) f only assumption Il is implicit.
(&) If neither | nor Il is implicit.
(D) If-both I and II are implicit.

40.

41.
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Direction:  Study the following information ~ Fgr:

_ carefully and answer the questions
given below : (Q. 42 to 45)

(@) Five persons - A, B, C, D and E
participated in a quiz contest.

(b) One is master of sports, one is
master of current events and one is
master of art and culture.

(c) A and D are unmarried ladies and
do not hold command in any
subject.

(d) E is the husband in a married

' couple.

(e) B is the brother of C and is neither
master of current events nor art and

culture.
i) None of the ladies has command
over current events and sports.
42.  Whois the master of Current Events ? 42.
S
B C
€ D
© A
43.  Who is the master of Sports ? 43.
(A) A
(B) B
«(C)-. C
D) D
44. Who is the master of Art and Culture ? 44,
(A) E
*(B) D
(@) C
D) B
CET-B.ED.-D/35,000 (1)
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Who is the wife of E ?

45
B A
B B
© ¢C
© D
Direction : For the Assertions (A) and Reasons
(R) below, choose the correct
alternative from the following :
(Q. 46-47)

46.  Assertion (A) : Beri-Beri is a viral infection.
Reason (R) : Vitamin deficiency causes
diseases.

(A) Both (A) and (R) are true and (R) is
the correct explanation of (A)
(B) Both (A) and (R) are true but (R) is
not the correct explanation of (A)
(C)  (A)is true but (R) is false
D) (A) is false but (R) is true
47.

CET-B.ED.-D/35.000 )

Assertion (A) : River Narmada flows
westward. '

Reason (R) : Narmada falls into the Bay of
Bengal.

(A) Both (A) and (R) are true and (R) is
the correct explanation of (A)

(B) - Both (A) and (R) are true but (R) is
not the correct explanation of (A)

(&) (A) is true but (R) is false
D) (A)is false but (R) is true

45,

46.

47.
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Direction :  Study the following information

48.

49,

50.

51.

CET-B.ED.-D/35.000

carefully and answer the
questions given below (Q. 48 to
51), '
Six people are sitting facing the
" center of a circle playing a game.
Vijay was on the left of Sudhir.
Amar was between Saurabh and
Rakesh. Neeraj was second to
Amar's left side.

Who was second to Vijay's right ?

(A) Neeraj
(B) Rakesh
(®) Amar

D) Saurabh

Who was between the Neeraj and Vijay ?

(A) Rakesh
(B) Amar
“(C) Sudhir

(D) Saurabh

Who was second to Amar’s right ?

(A) Sudhir
*(B)  Vijay
(®) Neeraj

D) Saurabh
Who was between the Vijay and Amar ?
(A) Saurabh or Neeraj
(B) Saurabh '
©) Rakesh or Saurabh
+ (D) Rakesh

48.

49,

50.

51.
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52.

53
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Each question given below has a
statement followed by two courses
of action numbered | and II. You
have to assume everything in the
statement to be true, then decide
which of the two suggested courses
of action logically follows for
pursuing. (Q. 52-53)

Statement : School uniform is a burden on
the poor parents.

Courses of Action :

l. Poor parents should stop buying
school uniform.

Il Schools can provide subsidy on
school uniforms.

(A) If only | follows
(B) If only Il follows
(C) I neither | nor Il follows :

(D) If both | and II follows.

Statement :

School dropout rate is very high in the rural
areas as children support their parents in
income eaming activities.

Courses of Action

l. - Public Awareness programme on
primary education should be
“expanded immediately to educate
parents.

Il Compensation is not a remedy.
(A)  Ifonly | follows

(B) If only Il follows-

(@) If neither I nor Il follows

D) If both | and I are follows

52.

53.
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Directions:  Each question given below has a
statement followed by two
conclusions | and Il. Consider the
statement and the following
conclusions and decide which of
the following conclusions follow the
statement. (Q. 54-55)

54. Statement :

Sick people need medicine.

Conclusions : : .

l. Healthy people do not need
medicine.

. . People keep medicine in their
home. '

65,
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(A) If only conclusion | follows

(B) If only conclusion Il follows

(®) If neither conclusion | nor Il follows

(D) If both conclusions | and Il are
follows

Statement :

The increasing population of our nation will

lead to depletion of many essential

resources.

Conclusions :

l. Population of our nation can be

~ controlled.

Il The nation will not be able to
provide a decent living to its
citizens.

(A) If only conclusion | follows

(B) If only conclusion Il follows

(€ If neither conclusion | nor 1l follows

D) If both conclusions | and Il are

 follows
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56.

57.

58.

59.

60.

61.
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SECTION - IV / @us-lv

Who is the Chief Minister of Bihar?
(A) Nitish Kumar ;
(B) Arjun Munda

(C)  Sushil Modi

D) Lalu Yadav

(16)

General Awareness _

= SIS
In which year Bengal was divided? 5. ST v fosSrT R o ger an?
A) 1904 A 1904
B) 1905 B) 1905
) 1906 © 1906
O 1907 O 1907
Who initiated Champaran Movement? 57. TR TR fohem IRH feEr?
(A) M. K. Gandhi A T B. T
()  M.M. Malaviya B) . w. Al
(C)  Gokhale © e
(0)  Rajendra Prasad 0) - = JER”
In which year Indian National Congress was -~ 58. AR W BT B T fre o
founded? &’
(A) 1880 (A) 1880
B) 1884 B) 1884
) 1885 C) 1885
O) 1890 D)  18%0
Birsa Munda is related to which state? 59.  Feoran yosr b wew @ walg ¥
(A)  Bihar ' B ReEr
B) Jharkhand B) AETS
(C)  Odisha C)  anfEem
(D)  West Bengal O  uR¥EH ST
Who has written Gitanjali ? 60.  didisier @ e R &)y 27
(A R.N. Tagore (A) M. Tg. JX
(B) M. K. Gandhi B) TH. . i
(C)  Mahadevi €  Herdt
(D)  Sri Aurobindo O & ol

61.  FRR @ ge # 7

(A fler AR
B T g
© g A
0 g T



62.

63.

64.

65.

66.

67.
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Where "tomb' of Humayun" is located?
- (A) Agra

(B) Lahore

(@) Delhi

D) Ajmer

Who started "Din-i-elahi"?

(A)  Akbar

(B) Aurangzeb

(€) Jahangir

(D) Babar

In which year the first battle of Panipat' was

fought ?

(A) 1520
(B) 1526
(C) 1532
D) 1626

Who wrote "Humayunama"?
(A) Gulbadan Begam
(B) Humayun

(C) Abul Fazal

(D) Noorjahan

Where Mahavir was born?
(A) Vaishali

(B) Kundgram

(9] Kashi

D) Kapilvastu

Which one is the first Veda?
(A) Samveda

(B) Yajurve’da

(C)  Atharvaveda

(D)  Rigveda

62.

63.

65.

66.

67.

(17)
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(I

D) SRR
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) - 1532

D) 1626 .
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68.

69.

70.

1.

T2

73.
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Whét’is the capital of Mizoram?
(A) Gangtok

(B) Aizol
(C)  Guwahati
D) Imphal

What is the capital of Uttar Pradesh?
(A) Lucknow

'(B) Agra

(&) Patna
(D) Varanasi
Patna is situated at the bank of which river?

(A) Kosi
(B) Ganga
(C) Gandak

(O)  Ghaghra
Taj Mahal is located in which city ?
(A) Lucknow

(B) Ranchi
(@) Rajgir
O) Agra

Which is known as the pink city?

(A)  Bhopal

(B) Chandigarh

©) Jaipur

D) Ahmedabad

Who is the Chief Minister of Delhi?
(A) Manoj Tiwari

(B) Arvind Kejriwal

(C)  Nadda

(D)  Rajnath
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74. The biosphere of the earth 74
includés ,
(A) Atmosphere
(B) Hydrosphere
(€ Lithosphere
(D). All(A), (B) and (C)
75. A place on the earth can be shown with help  75.
of
(A) Latitude »
(8)  Longitude
(C)  Both (A) and (B)
D) None (A) and (B)
76, Whatis the capital of Binar ? 76.
(A) Ranchi
(B) Bhagalpur
(C)  Patna
©0) Gaya :
77.  Who is the governor of Bihar ? Tl
(A)  Nitish Kumar
(B) Phagu Chauhan
(@) Ramnath
D) Anandi Ben
78. In which state Dr. B. R. Ambedkar was born? 78,
(A) Madhya Pradesh
(B8) Maharashtra
(© Bihar
(D) Jharkhand
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80.

81.

82.

83,
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Kosi river is in which state ?

(A) U.P.

(B) M.P.

(© Punjab
- (D) Bihar

- What s the capital of Nepal?

(A) Kathmandu

(B) Pokhra

(C) Mithila

(D) Janakpuri

Who is known as the 'father of computer'?

(A)  Pascal
(B) Hollerith
(9] Newman

D) Charles Babbage
India : Rupee: : Bangladesh : ?

(A) Frenk

B)  Taka

(&) Leera

©)  Dollar

Myopia : Eye : : Meningitis : ?
(A) Kidney

(B) Brain

(C)  Lungs

D)  Liver

Which is part of the earth ?
(A) Atmosphere

(B) Hydrosphere

© Lithosphere

O)  All(A), (B)and (C)
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Which one is the biggest ocean on earth ?

(A)  Pacific
(B) Arctic
(©) Indian
D) Atlantic

Which gas is mainly responsible for ozone
layer depletion ?

(A) - SO,

B) CO,

(C)  CFCs

D) NH,

Jakarta is capital of which country ?
(A) Malaysia

(B) Indonesia

(C) Thailand

D) Mauritus

Which ocean lies to the west of India ?

(A) Arabian Sea

(B) Bay of Bengal

© Indian Ocean

D) None

Who is the present defence minister of India?
(A) Rajnath Singh

(B) Amit Shah

(€  V.K Singh -

D) Ravi Shankar

R. T. E. Act, 2009 has been implemented

from which year ?
(A) 2009
(B) 2010 -
) 2011

D) 2012
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1.

92,

93.

- 85

Pandit Deen Dayal Upadhyay belonged to  91.

which political party ?
(A) Congress

(B) Jansangh

€ B.SP

0) SP

Who is the writer of the book 'Agni Ki Udan'? 92,

(A)  APJ Abdul Kalam
B) MK Gandhi

© J.L. Nehru

D) Mahadevi

Which article in the Indian constitution is 93,

related to imposition of President's rule in

states ?

(A) 352

B) 35

€ 350

D) 348

Who is the president of India ? 94,

(A) Amit Shah

(B) Ramnath Kovind
(®) Vainkaih Naidu
(D) L. K. Advani

Which instrument measures eqrthquakes ? 95

(A) Seismograph

- (B) Barometer

(C) Manometer
O)  Ameter
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SECTION -V
Teaching Learning Environment in Schools
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teacher in a class ?

(A) Teach fast learners

()] Teach mediocre learners
©) Teach slow learners

D) Teach (A), (B), (C) together.

(23)

96.  Which of the following is major cause of 95~ §HT § geq AlAE =D F T H
decreasing ethical standards in the society ? FE? '
(A)  Educational policy failure (A BeEn it Qe
(B) Poverty (B) T
(C)  Lack of schools © o & wh
(D)  Lack of good teachers D) TS TSI B HH
97.  Which is not part of 3R's ? 97.  H ¥ P o AR (3R's) H AT ek
(A) Speaking g7
(3)] Reading () S
B e
©) Writing ©) RECRll
(D) Arithmetic D) 3BT
98.  Which is related to education of deaf & 98. = I HI Th-aRR &t Riew & T
dumb ? g7
(A)  Braille A) s
(B)  Sign language (B)  Gha
(C)  Brailler €  sEY
(D)  All(A), (B)and (C) ~(0) 4 (A), (B)TE(C)
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(B)  Divyang ®)  Rai
(©)  Included ©  wHeRE
(D)  None of the above 0) SR g T
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Primary school is a term used for which

class level ?

(A) - Class |- Vil
(B) Class | - X
(@) Class |-V

(D) Nursery classes

The best way to teach a concept to students
is to proceed from ......... :

(A) Difficult to simple

(B) Known to unknown

(®) Unknown to known

(D)  Abstract to concrete

The duration of secondary education in India

is year.
(A) 02
(B) 04
© 06
(D) 05

The most potent reason of student

indiscipline in schools is

(A)  Absenteeism of teachers

B) Absenteeism of students

(C)  Non-completion of course

D) Non-involvement of students in
activities

Which one is most important for a teacher ?

(A)  Expertize in subject content

(B) .  Expertize in teaching skills

(©) Rapport with students

D)  Good health
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110.
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A semester consists of _ month
duration.

(A) 04

® 03

(C) 06

© 05

Which one is not an element of positive
learning environment ?

(A) Motivating the learner

(B) Creation of interest

©) Control by force -

() Planning activities

N.C.C. belongs to which of the following in
school ?

(A) Curricular activity

(B) Co-curricular activity

(€ Army activity

D) Service activity

Which one is not a literary activity ?

(A) Essay writing

_ (B) NS.S.
(®) Debate
O)  Quiz

If students make noise in‘ the class, they
should be

(A) Punished

(B) Beaten

(©) Sent out

D) Engaged in activities
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What is the duration of higher secondary

education ?

(A) 4 years
(B) 3 years
(€ 2 years
D) 1 year

Which is not desired in schools ?' :

(A) Regular attendance

(B) Good conduct

€ Corporal punishment

(D) Awards

Which is a responsible cause of growing

indiscipline in schools ?

(A) Economic difficulty
(B) Lack of leadership by teachers

(9] Intervention by pafents

()} Growing aspirations

Which of the following is most effective for
promotion of learning among school
students ?

(A) Lecture

(8) Dictation

€ Guided activities

(D) Pictures

Which is not the part of co-curricular activities
in schools ?

(A) Debates

(B) Music and song competitions

(C).  Class lecture

D) Drama
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17.
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120.
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Which of the following is the greatest
problem for a school ?

(A)
(B) Lack of good infrastructure

Lack of finances

(&) Lack of good teachers

(D) Lack of students continuously
Which is the greatest quality of student for
learning ?

(A) good memory

(B)  good communication ability-

(€ hard work to learn

(D) curiosity to learn

Which one is not the quality of a good

school ?

(A) Teaching of all subjects

(B) Conduction of debates and essay
writing

© No organization of games

- (D) Well developed laboratories

Which of the following is not an example of
physical infrastructure of a school 2

(A) Playground

(B)  Buiding

© Laboratories

D) Librarian

The educational institution with no barrier of
age of study is termed as ......... )

(A) Free institution of education

(B)  Closed institution of education -
(©) Evening institution of education
(

D) Open education institution
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